Engineers Estimate \$1,040,000.00 January 9, 2014

GEORGE REED INC - MODESTO, CA.

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$75,000.00	\$75,000.00
2	CLEARING & GRUBBING	1	LS	\$20,906.00	\$20,906.00
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$90,000.00	\$90,000.00
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$17,300.00	\$17,300.00
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$12,000.00	\$12,000.00
6	SAWCUT - AC	17,023	LF	\$0.10	\$1,702.30
6A	SAWCUT - PCC	5,400	LF	\$0.10	\$540.00
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$0.75	\$57,675.75
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$29.00	\$30,856.00
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$1.10	\$10,582.00
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$22,320.00	\$22,320.00
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$2,600.00	\$7,800.00
11	ADJUST UTILITY COVER TO GRADE	1	EA	\$900.00	\$900.00
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$5,750.00	\$86,250.00
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$2,700.00	\$40,500.00
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$1,760.00	\$7,040.00
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$4,800.00	\$38,400.00
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$10.75	\$25,155.00
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$2.75	\$68,750.00
18	8" PCC MEDIAN CURB	12,674	LF	\$17.50	\$221,795.00
19	6" VERTICAL CURB & GUTTER	550	LF	\$39.00	\$21,450.00
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$43.00	\$29,154.00
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$6.25	\$23,643.75
22	4" PCC SIDEWALK	11,530	SF	\$5.50	\$63,415.00
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK))	4,875	SF	\$13.00	\$63,375.00
	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$590.00	\$5,310.00
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$41.50	\$124.50
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$5.25	\$39,900.00
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$4.20	\$62,848.80
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.50	\$103,467.00
	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.40	\$25,161.20
	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$225,000.00	\$225,000.00
	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$1,225.00	\$1,225.00
	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$90.00	\$22,500.00
	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$5.10	\$4,263.60
	FURNISH ARBOR MULCH	621	CY	\$28.10	\$17,450.10
	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$155.00	\$1,240.00
	STRIPING	1	LS	\$55,000.00	\$55,000.00
	BASE BID				\$1,600,000.00
TOTAL	φ1,000,000.00				

Engineers Estimate \$1,040,000.00 January 9, 2014

KNIFE RIVER - STOCKTON, CA.

ITEM NO.	TIEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST	
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$35,000.00	\$35,000.00	
2	CLEARING & GRUBBING	1	LS	\$19,000.00	\$19,000.00	
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$110,000.00	\$110,000.00	
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$50,000.00	\$50,000.00	
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$12,000.00	\$12,000.00	
6	SAWCUT - AC	17,023	LF	\$1.00	\$17,023.00	
6A	SAWCUT - PCC	5,400	LF	\$2.50	\$13,500.00	
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$0.50	\$38,450.50	
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$30.00	\$31,920.00	
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$2.50	\$24,050.00	
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$23,000.00	\$23,000.00	
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$2,300.00	\$6,900.00	
11	ADJUST UTILITY COVER TO GRADE	1	EA	\$700.00	\$700.00	
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$750.00	\$11,250.00	
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$4,500.00	\$67,500.00	
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$950.00	\$3,800.00	
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$5,900.00	\$47,200.00	
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$8.00	\$18,720.00	
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$2.50	\$62,500.00	
18	8" PCC MEDIAN CURB	12,674	LF	\$14.00	\$177,436.00	
19	6" VERTICAL CURB & GUTTER	550	LF	\$32.00	\$17,600.00	
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$27.00	\$18,306.00	
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$10.00	\$37,830.00	
22	4" PCC SIDEWALK	11,530	SF	\$6.25	\$72,062.50	
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK)	4,875	SF	\$11.50	\$56,062.50	
24	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$650.00	\$5,850.00	
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$600.00	\$1,800.00	
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$5.00	\$38,000.00	
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$7.50	\$112,230.00	
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.75	\$120,711.50	
29	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.60	\$37,741.80	
30	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$228,000.00	\$228,000.00	
31	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$1,300.00	\$1,300.00	
32	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$90.00	\$22,500.00	
33	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$5.00	\$4,180.00	
34	FURNISH ARBOR MULCH	621	CY	\$29.00	\$18,009.00	
35	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$158.00	\$1,264.00	
36	STRIPING	1	LS	\$51,000.00	\$51,000.00	
TOTAL	TOTAL BASE BID					

Engineers Estimate \$1,040,000.00 January 9, 2014

MCI ENGINEERING - STOCKTON, CA

	INOI ENGINEERING GIGGROUP, GA						
ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST		
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$55,000.00	\$55,000.00		
2	CLEARING & GRUBBING	1	LS	\$55,000.00	\$55,000.00		
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$44,000.00	\$44,000.00		
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$6,500.00	\$6,500.00		
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$15,000.00	\$15,000.00		
6	SAWCUT - AC	17,023	LF	\$0.60	\$10,213.80		
6A	SAWCUT - PCC	5,400	LF	\$2.00	\$10,800.00		
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$0.35	\$26,915.35		
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$29.40	\$31,281.60		
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$1.75	\$16,835.00		
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$21,985.00	\$21,985.00		
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$3,000.00	\$9,000.00		
11	ADJUST UTILITY COVER TO GRADE	1	EA	\$1,500.00	\$1,500.00		
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$1,575.00	\$23,625.00		
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$4,375.00	\$65,625.00		
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$6,000.00	\$24,000.00		
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$6,750.00	\$54,000.00		
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$7.50	\$17,550.00		
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$2.42	\$60,500.00		
18	8" PCC MEDIAN CURB	12,674	LF	\$17.20	\$217,992.80		
19	6" VERTICAL CURB & GUTTER	550	LF	\$20.75	\$11,412.50		
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$40.00	\$27,120.00		
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$11.00	\$41,613.00		
22	4" PCC SIDEWALK	11,530	SF	\$4.10	\$47,273.00		
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK))	4,875	SF	\$15.00	\$73,125.00		
24	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$630.00	\$5,670.00		
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$600.00	\$1,800.00		
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$5.40	\$41,040.00		
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$8.95	\$133,927.80		
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.61	\$111,054.58		
29	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.40	\$25,161.20		
30	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$267,500.00	\$267,500.00		
31	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$2,000.00	\$2,000.00		
32	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$75.00	\$18,750.00		
33	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$5.00	\$4,180.00		
34	FURNISH ARBOR MULCH	621	CY	\$23.50	\$14,593.50		
35	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$150.00	\$1,200.00		
36	STRIPING	1	LS	\$48,549.00	\$48,549.00		
TOTAL	TOTAL BASE BID						

Engineers Estimate \$1,040,000.00 January 9, 2014

MCGUIRE & HESTER - OAKLAND, CA

ITEM		BID		UNIT	TOTAL	
NO.	ITEM DESCRIPTION	QTY	UNIT	COST	COST	
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$57,000.00	\$57,000.00	
2	CLEARING & GRUBBING	1	LS	\$10,000.00	\$10,000.00	
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$20,000.00	\$20,000.00	
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$10,000.00	\$10,000.00	
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$7,500.00	\$7,500.00	
6	SAWCUT - AC	17,023	LF	\$1.20	\$20,427.60	
6A	SAWCUT - PCC	5,400	LF	\$1.50	\$8,100.00	
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$0.75	\$57,675.75	
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$40.00	\$42,560.00	
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$2.00	\$19,240.00	
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$22,000.00	\$22,000.00	
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$2,000.00	\$6,000.00	
	ADJUST UTILITY COVER TO GRADE	1	EA	\$1,500.00	\$1,500.00	
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$1,600.00	\$24,000.00	
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$5,000.00	\$75,000.00	
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$700.00	\$2,800.00	
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$7,000.00	\$56,000.00	
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$7.00	\$16,380.00	
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$3.50	\$87,500.00	
18	8" PCC MEDIAN CURB	12,674	LF	\$14.00	\$177,436.00	
19	6" VERTICAL CURB & GUTTER	550	LF	\$21.00	\$11,550.00	
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$18.00	\$12,204.00	
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$8.00	\$30,264.00	
22	4" PCC SIDEWALK	11,530	SF	\$5.00	\$57,650.00	
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK))	4,875	SF	\$14.00	\$68,250.00	
24	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$1,100.00	\$9,900.00	
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$350.00	\$1,050.00	
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$6.40	\$48,640.00	
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$14.00	\$209,496.00	
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.70	\$117,262.60	
29	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.40	\$25,161.20	
30	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$267,000.00	\$267,000.00	
31	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$2,000.00	\$2,000.00	
32	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$75.00	\$18,750.00	
33	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$5.00	\$4,180.00	
34	FURNISH ARBOR MULCH	621	CY	\$24.00	\$14,904.00	
35	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$150.00	\$1,200.00	
36	STRIPING	1	LS	\$50,000.00	\$50,000.00	
TOTAL	TOTAL BASE BID					

Engineers Estimate \$1,040,000.00 January 9, 2014

TEICHERT CONSTRUCTION - STOCKTON, CA

	TEIGHERT GONGTROOTION GTOOKTON, GA					
ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST	
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$167,675.74	\$167,675.74	
2	CLEARING & GRUBBING	1	LS	\$6,000.00	\$6,000.00	
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$164,000.00	\$164,000.00	
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$30,000.00	\$30,000.00	
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$15,000.00	\$15,000.00	
6	SAWCUT - AC	17,023	LF	\$0.70	\$11,916.10	
6A	SAWCUT - PCC	5,400	LF	\$5.00	\$27,000.00	
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$0.35	\$26,915.35	
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$25.00	\$26,600.00	
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$1.75	\$16,835.00	
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$23,000.00	\$23,000.00	
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$1,000.00	\$3,000.00	
11	ADJUST UTILITY COVER TO GRADE	1	EA	\$780.00	\$780.00	
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$590.00	\$8,850.00	
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$2,000.00	\$30,000.00	
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$1,500.00	\$6,000.00	
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$5,000.00	\$40,000.00	
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$10.50	\$24,570.00	
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$2.10	\$52,500.00	
18	8" PCC MEDIAN CURB	12,674	LF	\$14.70	\$186,307.80	
19	6" VERTICAL CURB & GUTTER	550	LF	\$17.00	\$9,350.00	
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$38.00	\$25,764.00	
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$15.00	\$56,745.00	
22	4" PCC SIDEWALK	11,530	SF	\$7.00	\$80,710.00	
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK))	4,875	SF	\$8.00	\$39,000.00	
24	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$1,000.00	\$9,000.00	
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$250.00	\$750.00	
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$3.50	\$26,600.00	
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$7.50	\$112,230.00	
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.65	\$113,813.70	
29	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.39	\$24,532.17	
30	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$217,155.00	\$217,155.00	
31	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$1,200.00	\$1,200.00	
32	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$86.00	\$21,500.00	
33	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$5.00	\$4,180.00	
34	FURNISH ARBOR MULCH	621	CY	\$27.50	\$17,077.50	
35	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$150.00	\$1,200.00	
36	STRIPING	1	LS	\$49,000.00	\$49,000.00	
TOTAI	TOTAL BASE BID					

Engineers Estimate \$1,040,000.00 January 9, 2014

TAYLOR BACKHOE - MERCED , CA

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST	
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$51,500.00	\$51,500.00	
2	CLEARING & GRUBBING	1	LS	\$19,644.80	\$19,644.80	
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$37,833.60	\$37,833.60	
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$8,663.20	\$8,663.20	
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$13,413.60	\$13,413.60	
6	SAWCUT - AC	17,023	LF	\$0.63	\$10,724.49	
6A	SAWCUT - PCC	5,400	LF	\$4.27	\$23,058.00	
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$0.75	\$57,675.75	
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$54.67	\$58,168.88	
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$2.92	\$28,090.40	
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$24,823.80	\$24,823.80	
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$2,388.21	\$7,164.63	
11	ADJUST UTILITY COVER TO GRADE	1	EA	\$700.00	\$700.00	
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$1,797.76	\$26,966.40	
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$3,802.92	\$57,043.80	
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$1,120.00	\$4,480.00	
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$6,048.00	\$48,384.00	
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$5.74	\$13,431.60	
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$3.98	\$99,500.00	
18	8" PCC MEDIAN CURB	12,674	LF	\$14.16	\$179,463.84	
19	6" VERTICAL CURB & GUTTER	550	LF	\$30.83	\$16,956.50	
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$33.32	\$22,590.96	
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$11.60	\$43,882.80	
22	4" PCC SIDEWALK	11,530	SF	\$5.84	\$67,335.20	
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK))	4,875	SF	\$27.20	\$132,600.00	
24	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$1,232.00	\$11,088.00	
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$336.00	\$1,008.00	
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$7.54	\$57,304.00	
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$5.42	\$81,104.88	
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.77	\$122,091.06	
29	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.49	\$30,822.47	
30	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$319,140.00	\$319,140.00	
31	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$1,296.00	\$1,296.00	
32	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$76.03	\$19,007.50	
33	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$3.53	\$2,951.08	
34	FURNISH ARBOR MULCH	621	CY	\$19.83	\$12,314.43	
	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$175.50	\$1,404.00	
36	STRIPING	1	LS	\$53,598.07	\$53,598.07	
TOTAL	TOTAL BASE BID					

Engineers Estimate \$1,040,000.00

January 9, 2014

ROBERT BURNS - STOCKTON, CA

-	ROBERT BORNO OTOORTON, OA						
ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST		
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$58,000.00	\$58,000.00		
2	CLEARING & GRUBBING	1	LS	\$44,780.00	\$44,780.00		
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$23,780.00	\$23,780.00		
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$20,629.00	\$20,629.00		
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$0.00	\$0.00		
6	SAWCUT - AC	17,023	LF	\$2.13	\$36,258.99		
6A	SAWCUT - PCC	5,400	LF	\$1.07	\$5,778.00		
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$0.93	\$71,517.93		
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$27.25	\$28,994.00		
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$1.98	\$19,047.60		
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$23,963.00	\$23,963.00		
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$4,205.00	\$12,615.00		
11	ADJUST UTILITY COVER TO GRADE	1	EA	\$629.00	\$629.00		
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$1,798.00	\$26,970.00		
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$6,496.00	\$97,440.00		
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$1,848.00	\$7,392.00		
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$7,357.50	\$58,860.00		
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$11.45	\$26,793.00		
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$4.17	\$104,250.00		
18	8" PCC MEDIAN CURB	12,674	LF	\$17.90	\$226,864.60		
19	6" VERTICAL CURB & GUTTER	550	LF	\$20.84	\$11,462.00		
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$15.14	\$10,264.92		
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$6.50	\$24,589.50		
22	4" PCC SIDEWALK	11,530	SF	\$6.25	\$72,062.50		
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK))	4,875	SF	\$18.68	\$91,065.00		
24	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$586.00	\$5,274.00		
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$310.00	\$930.00		
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$6.10	\$46,360.00		
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$9.80	\$146,647.20		
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.87	\$128,988.86		
	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.43	\$27,048.29		
	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$236,698.00	\$236,698.00		
	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$1,308.00	\$1,308.00		
	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$73.74	\$18,435.00		
	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$5.45	\$4,556.20		
	FURNISH ARBOR MULCH	621	CY	\$30.00	\$18,630.00		
	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$163.50	\$1,308.00		
36	STRIPING	1	LS	\$52,918.00	\$52,918.00		
TOTAL	TOTAL BASE BID						

Engineers Estimate \$1,040,000.00 January 9, 2014

VANGUARD - LIVERMORE, CA

NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST	
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$57,850.00	\$57,850.00	
2	CLEARING & GRUBBING	1	LS	\$9,355.00	\$9,355.00	
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$40,600.00	\$40,600.00	
4	PREPARE SWPPP & STORMWATER COMPLIANCE	1	LS	\$9,685.00	\$9,685.00	
5	CONSTRUCTION SURVEYING/STAKING	1	LS	\$15,950.00	\$15,950.00	
6	SAWCUT - AC	17,023	LF	\$1.63	\$27,747.49	
6A	SAWCUT - PCC	5,400	LF	\$2.80	\$15,120.00	
7	REMOVE EXISTING ASPHALT PAVEMENT	76,901	SF	\$1.07	\$82,284.07	
7A	IMPORT SOIL - NEW MEDIAN	1,064	CY	\$32.00	\$34,048.00	
8	REMOVE EXISTING PCC SIDEWALK	9,620	SF	\$1.70	\$16,354.00	
9	REMOVE EXISTING STRIPING/MARKINGS	1	LS	\$24,200.00	\$24,200.00	
10	ECCENTRIC STORM DRAIN MANHOLE CONE	3	EA	\$1,900.00	\$5,700.00	
11	ADJUST UTILITY COVER TO GRADE	1	EA	\$400.00	\$400.00	
12	CONNECT TO EXISTING WATER SYSTEM	15	EA	\$2,000.00	\$30,000.00	
13	2" WATER SERVICEW/2" BACKFLOW	15	EA	\$5,685.00	\$85,275.00	
14	ABANDON EXISITNG 2" WATER SERVICE	4	EA	\$955.00	\$3,820.00	
15	ELECTRICAL SERVICE CONNECTION	8	EA	\$7,425.00	\$59,400.00	
16	4" PVC SLEEVE (EXCLUDING TRENCH PATCH)	2,340	LF	\$13.00	\$30,420.00	
17	REMOVE & REPLACE AC PAVEMENT 3' DEPTH (DIGOUT)	25,000	SF	\$4.62	\$115,500.00	
18	8" PCC MEDIAN CURB	12,674	LF	\$12.95	\$164,128.30	
19	6" VERTICAL CURB & GUTTER	550	LF	\$28.15	\$15,482.50	
20	4" PAVER CROSSWALK (BIKE PATH)	678	SF	\$45.65	\$30,950.70	
21	4" DECORATIVE PCC (MEDIAN NOSE & UPRR CROSSING)	3,783	SF	\$7.45	\$28,183.35	
22	4" PCC SIDEWALK	11,530	SF	\$7.03	\$81,055.90	
23	4" PCC ADA/WHEELCHAIR RAMP (INCL. DETECTABLE WARNING SURFACE & ADJACENT PCC FLATWORK))	4,875	SF	\$14.25	\$69,468.75	
24	RETROFIT EXISTING ADA RAMP WITH DETECTIBLE WARNING SURFACE (9 LOC)	9	EA	\$1,060.00	\$9,540.00	
25	PLACE 6" AGGREGATE BASE (AB) DRIVEWAY	3	CY	\$250.00	\$750.00	
26	CONSTRUCT NEW PAVEMENT SECTION WITH 5" HOT MIX ASPHALT (HMA TYPE A) OVER 4" AB	7,600	SF	\$8.27	\$62,852.00	
27	CONSTRUCT TRENCH PATCH, AVE. 1' WIDE, 5" HMA OVER 4" AB (ADJACENT TO MEDIAN CURBS & ADA RAMPS)	14,964	SF	\$9.65	\$144,402.60	
28	PLACE TYPE II SLURRY SEAL	68,978	SY	\$1.80	\$124,160.40	
29	MEDIAN & PARKWAY PLANTER SOIL PREPARATION	62,903	SF	\$0.44	\$27,677.32	
30	LANDSCAPE IRRIGATION SYSTEM	1	LS	\$294,250.00	\$294,250.00	
31	LANDSCAPE IRRIGATION SYSTEM AUDIT	1	LS	\$2,200.00	\$2,200.00	
32	FURNISH PLANT MATERIAL - TREES (15 GALLON)	250	EA	\$82.50	\$20,625.00	
33	FURNISH PLANT MATERIAL - SHRUBS (1 GALLON)	836	EA	\$5.50	\$4,598.00	
34	FURNISH ARBOR MULCH	621	CY	\$25.85	\$16,052.85	
35	INSTALL BIKE LANE SIGN ON EXISTING POLE	8	EA	\$165.00	\$1,320.00	
36	STRIPING	1	LS	\$53,400.00	\$53,400.00	
TOTAL	TOTAL BASE BID					